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STRAIGHT LINE IN A PLANE AND ITS DIRECTIONAL
ANGLE

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Theory attracts practice as the magnet attracts iron.
Carl Gauss, German mathematician.

A straight line p is given by a point A and a direction angle φ. For each given line choose the correct
slope-intercept form equation.

Graphs:

The puzzle is finished. You can see you score
or browse the questions again. x
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Equations:

a p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

b p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

c p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

d p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

e p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

f p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

g p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3

h p : y = −
√

3x + 3p : y =
√

3
3 x + 3p : y =
√

3x + 3p : y = −x + 3p : y = x + 3p : −
√

3
3 x + 3p : y = −2x + 3p : y = 2x + 3



Amazing! Incredible!Perfect, keep it up!Good job, buddy!Awesome! Keep it up!You are the champion!Great! Only millimetres
away from perfect.

A little harder and you would kill it. Try
it again.

Great. Next time you won’t make any
mistakes

Good job, but you are no Einstein yet!A small step remains,
next time will be glorious!

Making mistakes is better than faking
perfection.

It’s not bad, but you can do better!It is not bad, but it could be better.Not bad! In some areas you haven’t got
enough knowledge yet.

You can do better! You have to work
harder!

That was a close shave! Study more,
next time you might not be that lucky to

pass.

You made a lot of mistakes.
You aren’t good at this yet.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

You may not be a future Fields Medal
laureate, but you can do better on this

test.

It wasn’t Enigma,
so where is the problem?

For this test - the goose is in the oven!
Try another test.

The stars weren’t aligned in your favour
today.

Your math knowledge
is just like the square root of −1.

There was a time
Einstein couldn’t count to 10 either.

Next time don’t multiply your knowledge
by zero.




